From: paul keens paulkeens@hotmail.com &

Subject: Invoice 2900 from PAUL KEENS MOTOR REPAIRS LTD

Date: 5 February 2016 at 09:05
To: jl@leapingwellstrong.com

Dear Customer:

Your invoice is attached. Please remit payment at your earliest convenience.

Thank you for your business - we appreciate it very much.

Sincerely,

PAUL KEENS MOTOR REPAIRS LTD 01534-722555

PAUL KEENS MOTOR REPAIRS LTD

Specialists in Ferrari, Maserati, Aston Martin and Lamborghini

La Route de Beaumont St. Peter JE3 7BR

Invoice To

Mr A Buckingham Portelet House Le Chemin Du Portelet St Brelade JE3 8AU

Invoice

Tax Date	Invoice No
07/01/2016	2900

Terms	Make	Model Registration	Chassis !	No	Mileage		
Due on receipt	Aston Martin	Shooting brake TNH 36		DB5/141	1R	39,981	
Item		Description		Qty	Rate	Amount	
Labour recovery char	Traced non start to fivehicle recovered to Removed the o/s/f w pump, removed the pand rebuild, carried Removed the spark p Delivered to Jonnath	work shop - assist with theel and fuel pump gua- pump and dismantled, cout manual test, refit to plugs and cleaned, start nan's House	h recovery of vehicle ard to gain access to the leaned electrical conta- vehicle.	cts	65.00 49.00	49.00	
				Tota	ıl	£244.00	
Than	k you for your custon	m we hope to be of ser	vice to you again.	Pay	ments/Cree	lits	
				Bala	nce Due	£244.00	

All parts and materials remain the property of Paul Keens Motors Limited until account is settled in full.

IF YOU ARE PAYING THIS ACCOUNT ONLINE PLEASE NOTE OUR BANK DETAILS BELOW.

RACS nevments are welcome to the

PAUL KEENS MOTOR REPAIRS LTD

Specialists in Ferrari, Maserati, Aston Martin and Lamborghini

La Route de Beaumont St. Peter JE3 7BR

Tax Date Invoice No 16/02/2016 3137

Invoice

Invoice To Mr J Leapingwell Avranche Manor

La Ruette D'Avranches St. Lawrence JE3 1GJ

Terms	Make	Model	Registration	Chas	sis No		Mileage	
Due on receipt	Aston Martin	Shooting brake	TNH 36	DB5/	1411R		39,981	
Item		Description		Q	y F	Rate	Amount	
	Adapted motor and a door guard	uxiliaries to fit, test w	indow operation and	refit the				
Fuel	Petrol			1		65.00	65.00	
Fuel Filter	Fuel Filter			1		9.21	9.21	
Part	Fuel hose 1m					5.63	5.63	
Part	Fuel hose clips			4		1.12	4.48	
Part	Fuel pump					342.12	342.12	
Part	Fibre washers			6	5	0.58	3.48	
Part	Dowty washers			2	2	1.68	3.36	
Part	Bango bolts			2	2	12.39	24.78	
Part	Floats			3	3	45.40	136.20	
Part	Needle valve kits			3	3	26.66	79.98	
Part	Gauze filters			3	3	12.45	37.35	
Part	Fan belt					10.58	10.58	
Coolant / blue	Blue Anti-Freeze			4		6.20	24.80	
Oil Filter	Oil filter					8.42	8.42	
washer	Sump washer					0.85	0.85	
Eninge Oil Edge	Engine oil RS Willia	ms specified oil		9	9	15.99	143.91	
Environmental	Disposal of waste oil					5.00	5.00	
Spark Plugs	Spark Plugs			(5	5.65	33.90	
				7	Total			
Thank	Thank you for your custom we hope to be of service to you again.				Payments/Credits			
				I	Balance	e Due		

All parts and materials remain the property of Paul Keens Motors Limited until account is settled in full.

IF YOU ARE PAYING THIS ACCOUNT ONLINE PLEASE NOTE OUR BANK DETAILS BELOW.

Phone No.	Fax No.	E-mail	BACS payments are welcome to the following: HSBC Bank plc
766585/722555	01534-723989	paulkeens@hotmail.com	Account No: 41467204 Sort code: 40 25 41

PAUL KEENS MOTOR REPAIRS LTD

Specialists in Ferrari, Maserati, Aston Martin and Lamborghini

La Route de Beaumont St. Peter JE3 7BR

Invoice To Mr J Leapingwell Avranche Manor La Ruette D'Avranches St. Lawrence JE3 1GJ

Invoice

Tax Date	Invoice No
16/02/2016	3137

Terms	Make	Model	Registration		s No	Mileage	
Due on receipt	Aston Martin	Shooting brake	TNH 36	DB5/1-	111R	39,981	
Item		Description		Qty	Rate	Amount	
Labour	Drained and flushed Drained the fuel tank Removed and replaced Replaced several piece Removed and renewed Removed and renewed Removed the carbure cleaned, fit new parts Run engine to temper Tuned engine as required the carbured the gearbox Reset the tyre pressur Checked all lights for Drivers window stuck (electric motor faulty Delivered vehicle to fitted, collected and capuard painted.	disconnect all fuel lired the fuel filter and fuels of rubber fuel line and the spark plugs and the points and condectors float chamber top a listed, refit tops rature and differential oil leves operation and differential oil leves operation and computer of the dollivered vehicle to the dollivered vehicle to the door guard and remove	ectrics	65.00	1,137.50		
Thank you for your custom we hope to be of service to you again.			Total Payments/Credits				
					Balance Due		

All parts and materials remain the property of Paul Keens Motors Limited until account is settled in full.

IF YOU ARE PAYING THIS ACCOUNT ONLINE PLEASE NOTE OUR BANK DETAILS BELOW.

Phone No.	Fax No.	E-mail	BACS payments are welcome to the following: HSBC Bank plc
766585/722555	01534-723989	paulkeens@hotmail.com	Account No: 41467204 Sort code: 40 25 41

PAUL KEENS MOTOR REPAIRS LTD

Specialists in Ferrari, Maserati, Aston Martin and Lamborghini

La Route de Beaumont St. Peter JE3 7BR

Tax Date Invoice No
16/02/2016 3137

Invoice

Invoice To Mr J Leapingwell Avranche Manor La Ruette D'Avranches St. Lawrence JE3 1GJ

Terms	Make	Model	odel Registration Chassis N	No	Mileage		
Due on receipt	Aston Martin	Shooting brake	TNH 36	DB5/141	1R	39,981	
Item		Description		Qty	Rate	Amount	
Part Part Part Part Wipers Postage cost recovery char Consumables Cleaning GST charge o	Points Condenser Electric window mot Window limit switch Supplied and fitted in Post and packing Collection of vehicle Consumables Brake Cleaner Import duty	new wiper blades		1 1 1 1 2 1 1 1 1 1	35.69 22.25 587.12 147.65 25.20 40.00 49.00 7.50 5.20 78.61	35.69 22.25 587.12 147.65 50.40 40.00 49.00 7.50 5.20 78.61	
				Tota	il	£3,099.97	
Thanl	c you for your custor	n we hope to be of ser	vice to you again.	Pay	ments/Cre	edits	
				Bala	nce Due	£3,099.97	

All parts and materials remain the property of Paul Keens Motors Limited until account is settled in full.

IF YOU ARE PAYING THIS ACCOUNT ONLINE PLEASE NOTE OUR BANK DETAILS BELOW.

Phone No.

Fax No.

E-mail

BACS payments are welcome to the following:
HSBC Bank plc

Account No: 41467204
Sort code: 40 25 41